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ISemester B.Com. mination, AprillMay 2O23
(CBCS - Old Scheme) (Repeaters)

COMMERCE
Paper - 1.6 (B) : Methods and Techniques for Business Decisions

Time : 3 Hours Max. Marks : 70

lnstruction : Answers should be written completely in English or
Kannada.

(5x2=10)

SECTION - A
AqDrl-o

l. Answer any 5 sub-questions, each sub-queslion carries 2 marks.

otud;cnddo 5 wd-{,d*zfed erxdoA, d,.3q:raoddno2 ercdrlct.

1) a) 2,6, 18, . . . . in a GP, find the 6s term.

2, 6, 1 8, . . . . rlrdoedd $ erdodl 6de noa{ oJ:d:". dod)bBoc)o.

b) What is a Diagonal Matrix ?

dear dodrE oodded> ?

c) What are Natural numbers ?

Bda ioa3rrldodde$ ?

d) What is Arithmetic Progression ?

#>odd $erd oodde$ t
e) lf X : 3 = 50 : 2, find the value of ,X,.

X : 3 = 50 : 2 erdd'X'd dd dcd)&6coO.

f) How much simple interest will be earned on t 2,000 @ g/" in 3 yrs. ?

t 2,000 d dted 9%d nd$ ?!?o$od 3 aHFrl$O_od)"rrrao$q fiW?rd)Gb ?

P.T.O.
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SECTION - B

apd-a
ll. Answer any 3 questions. Each question carries 6 marks. (3x6=18)

ob$oaddo drJacb -gdqderi err)qoft. Ee {,dori 6 erodil$r.

2) ll 3'd and 7ft terms of an AP are 15 and 39 respectively, find AP.

r-od> id>odd $ee6oJ: d:odde d.rdt a9de iosdd?isb 4d:Dan 15 dr$ 39 erdd

e, id)aodd dredoS:Q dodlbaobo.

Find a) A+B b) A-8.
1561 l+zs)Tael a=lo1zl
012) [s+s]

5OO (,l Oi'I lr\Jr)I t\/.U 6Uq9.J@G9'.LU.

a) A+B b) A-8.
4) Find the Banker's Discount and Banker's gain on { 3,000 for 73 days

@ 5kp.a.

dro. 3,000 dgli 73 adderi dedd 5 dddo- -93 ddrdo mroddd eDd drdr

zm, oddd doeaod:d1 dodbao$o.

5) 16 men and 28 women can do a work in 40 days. ln how many days will

24 men and 14 women complete the same work ?

u od) de.rnddl 40 addo- 1 6 ud dodnd) $.4 28 ?id doddd) ,aB raritoeitJe$)

erod d)eeJ 24 tsd ilodid: dJO 14 ra3 dodidl ude donddl ad* oddO-

dpsaFlirag$ard ?

6) Solve by Cramefs Rule.

6x+5y=2
4x-3y -14
rord:d 0obdld 4t-,d aa&.

6x+5Y=2
4x-3y - 14

tr56l
s) rrA=1, r nl

[o 1z)
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SECTION - C

aqDd-:)

lll. Answer any 3 questions. Each question carries 14 marks. (3x14=42)

oia$oddo dlro& €,d4i19d e,Dqotu. d,.a 4d4ri 14 esodrl$.

7) a) The sum of 3 numbers in AP is 9 and their product is 15. Find them.

r^,od; id>odd {,erdc$ 3 ioa3rzi9 dog 9 afrd? edilS z$cae.:u 15 e:dd ec

Boairii9d1 dod:baocro.

b) The sum of 3 numbers in GP is - 21 and their ploduct is 125. Find
them.

e"ocb rbdroedd $edob d>nd: ioaJrzld d.oq - 21 d:dr edd rbeae.ru 125

udd u Boa{dSdtr dod:bcoc>o.

8) a) Solve by formula method.
2x2-7x+3=0.
no$ d ioaolacd ia)edd$ aa:)
2x2-7x+3=0.

b) The monthly income ot A and B is in the ratio of 4 : 3 and their expenditure
is in the ratio of 3 : 2. lf both of them saves Rs. 6,000 at the end of each
month, find their respective monthly income.

A d:Q B aorodd dnhd eracob 4 : 3 ed>aada'ahd> eedd $a3.:r 3 : 2

e&aaddo;$dd. dr eD& {,8 3oil9 Sodri dra. 6,000 erDg6Jo$ dDadd,
edddd $E,ld er6Dod)dd* ?

9) a) On a bill of Bs. 10,900 due in 9 months at 5% p.a. find
a) present value
b) True discount
c) Banker's discount
d) Banker's gain.

q,e ddFd.-E&Fd 5% Dao$od, 9 godd:rldO-alDt qcbd dro. 10,900d de3

dt3ri dodJhaobo.
eJ

a) Q,fqd dPo,
b) Otr d,!ec
c) araroddr3 doea

d) zrtroddd erDep dod)&ad)o.
b) Solve 2x - 3y = 19 and 3x- 2y = 9 by elimination method.

2x*3y = 19 drdl 3x-2y = 9 dsobd dda8o$od aGft.

-J-
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10)a)

b)

11)a)

Find the sum of all integers between 100 to 400 which are divisible by 7.

noal, 100 ood 400 dn$nd nosJ, 7 ood .)qJd*od)d oo_dB6aFOdd9
dnddd: dod:bao$o.
Divide 110 into two parts such that 5 times of one part together with
6 times of the other part will be equal to Rs. 610.

5 zDo z"odJ a?iail, 6 ?rao "adqo& e?tarid drad ?"$JrtJaa,tudd dro. 610

t^:cbdod doaJ, 1 10 d1 odd; qDdoER aqid:).
Find the amount of annuity il payment of Rs. 300 is made at the end of
each year for 4 yrs. at the rate of 1O"/" p.a. compounded yearly.

{9 ddrd dodo$O-dra. 300 il$.li4 dtdFdg dJo oEdghdd de. 10 d DAo$.31

ddrdo$1 io oto ed&dd &-'J d dar rBdd dod dd:o dod: 30 a ob o.

35
1

b) Find the inverse of A =
2

o=[3
l2

5

1

d AeJlaedr iioedddl dcd:bBobO.


